## **BID TABULATION & NOTICE OF INTENT TO AWARD**



**Bid Name: Specialty Grounds Maintenance** 

ProRFx ID: ITB12152200000240

Notifications Sent: 175

Bids: 5

Solicitation: ITB REC/230103

Buyer: Nelson Delcasio

Buyer Email: <a href="mailto:ndelcasio@ocalafl.org">ndelcasio@ocalafl.org</a>

Buyer Phone: 352-629-8205

## 2/8/23 **Notice of Intent to Award** to **Michael Faison Maintenance LLC** pending City Council approval.

Bidder Name	Office Location	Tot	tal Amount - 3 Years Contract Term	
Michael Faison Lawn Maintenance, LLC	Summerfield, FL	\$	164,275.20	
Brightview Landscape Services, Inc.	Atlanta, GA	\$	Contract Term	
Michael Putch LLC*  Bid rejected as non-responsive: did not meet pricing requirement	<del>Reddick, FL</del>	\$		
SLC Ocala, LLC**  Bid rejected as non-responsive: did not meet license requirement	Reddick, FL	\$	<del>163,680.0</del> 0	
Southern Lawn Care Mid Florida Inc	Anthony, FL	\$	196,910.76	

Item	Description	Qty	UOM	Unit Price	Total
1	City Hall Complex - 110 SE Watula Avenue (including Citizens' Circle and Electric Customer Service Center). Boundaries are E. Ft King to the north, SE Watula to the east, SE Osceola to the west, and SE 3rd ST to the south. Osceola and SE 3rd St mowing corner 15ft off Mow ROW between SE 3rd St. and Ft. King on Osceola west side of the railroad track behind the restaurant Mow at a height of 4". clippings must be picked up.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 174.75	\$ 5,417.25
	Brightview Landscape Services, Inc.	31	Each	\$ 227.00	\$ 7,037.00
·	Michael Putch LLC*	31	Each	\$ -	\$ -
·	SLC Ocala, LLC**	<del>31</del>	<del>Each</del>	\$ 225.00	\$ 6,975.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 231.75	\$ 7,184.25

Item	Description	Qty	UOM	Unit Price	Total

2	Murphy Parking Lot - W. Hwy 40 to the south, N. Magnolia to the east. NW 1st Ave to the west and NW 1 St to the north	31	Each		
	Brightview Landscaping	31	Each	\$ 21.25	\$ 658.75
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 25.75	\$ 798.25
	Michael Putch, LLC	31	Each	\$ -	\$ -
	SLC Ocala, LLC	31	Each	\$ 35.00	\$ 1,085.00
	Southern Lawn Care Mid Florida, LLC	31	Each	\$ 36.05	\$ 1,117.55

Item	Description	Qty	UOM	Unit Price	Total
3	Downtown Square - S. Broadway St and SE 1st Ave and twelve (12) small islands surrounding the square. Mow the square at 4" and the grass clippings must be picked up.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 35.50	\$ 1,100.50
	Brightview Landscape Services, Inc.	31	Each	\$ 42.91	\$ 1,330.21
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 35.00	\$ 1,085.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 36.05	\$ 1,117.55

Item	Description	Qty	UOM	U	nit Price	Total
4	Hershberger Park - 1735 N. Magnolia Ave - mow all three sections.	31	Each			
	Michael Faison Lawn Maintenance, LLC	31	Each	\$	75.50	\$ 2,340.50
	Brightview Landscape Services, Inc.	31	Each	\$	98.69	\$ 3,059.39
	Michael Putch LLC*	31	Each	\$	-	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$	75.00	\$ 2,325.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$	77.25	\$ 2,394.75

Item	Description	Qty	ИОМ	Unit Price	Total
5	10th Street Park- NE 10th St. and N. Magnolia Ave - Mow from 10th St to the south to Johnson Tire to the north, and N. Magnolia to the west to dirt road to the east.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 33.40	\$ 1,035.40
	Brightview Landscape Services, Inc.	31	Each	\$ 42.91	\$ 1,330.21
	Michael Putch LLC*	31	Each	\$ -	\$ -
	<del>SLC Ocala, LLC**</del>	31	Each	\$ 35.00	\$ 1,085.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 36.05	\$ 1,117.55

Item	Description	Qty	UOM	Unit Price	Total
6	Parking Lot 5 - 200 block of NE 1st Ave	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 17.25	\$ 534.75
	Brightview Landscape Services, Inc.	31	Each	\$ 21.45	\$ 664.95
	Michael Putch LLC*	31	Each	\$ -	\$ -
	<del>SLC Ocala, LLC**</del>	31	Each	\$ 40.00	\$ 1,240.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 41.20	\$ 1,277.20

Item	Description	Qty	UOM	Unit Price	Total
7	Parking Lot 9 - SW 2nd Ave & SW Ft King St	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 47.50	\$ 1,472.50
	Brightview Landscape Services, Inc.	31	Each	\$ 60.08	\$ 1,862.48
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	31	Each	\$ 40.00	\$ 1,240.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 46.52	\$ 1,442.12

Item	Description	Qty	UOM	Unit Price	Total

8	Power Plant Block - 405 SE Osceola Ave (includes all grass on this block). SE 5th St to the south, SE Osceola to the west. SE 3rd to the north, and SE 3rd Ave to the east. Also the water tank/triangle.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 110.25	\$ 3,417.75
	Brightview Landscape Services, Inc.	31	Each	\$ 128.72	\$ 3,990.32
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 45.00	\$ 1,395.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 99.68	\$ 3,090.08

Item	Description	Qty	UOM	Unit Price	Total
9	Art Park - 213 NE 5th St R/R tracks to the north, west, and east - NE 5th St to the south- this includes on the other side of the fence to the north to platform and the other side of the landscaping to the west to tracks.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 184.55	\$ 5,721.05
	Brightview Landscape Services, Inc.	31	Each	\$ 240.26	\$ 7,448.06
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	<del>Each</del>	\$ 75.00	\$ 2,325.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 186.06	\$ 5,767.86

Item	Description	Qty	UOM	Unit Price	Total
10	Train/Bus Station - 500 block of NE 1st Ave and Magnolia Split (triangle) by RR Track.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 151.00	\$ 4,681.00
	Brightview Landscape Services, Inc.	31	Each	\$ 193.08	\$ 5,985.48
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 75.00	\$ 2,325.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 149.52	\$ 4,635.12

Item	Description	Qty	UOM	Unit Price	Total
11	Downtown Hwy 40 medians/ROW's - Watula to Pine Ave, and northwest corner island at W. Hwy 40 and NW 3rd St., northeast comer island at W. Hay 40 and NW 4th St.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 41.25	\$ 1,278.75
	Brightview Landscape Services, Inc.	31	Each	\$ 51.48	\$ 1,595.88
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 85.00	\$ 2,635.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 87.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Price	Total
	Downtown Ft King St ROW's - Osceola to Pine Ave, area around electrical box south mid block between S. Magnolia and SE 1 first Ave. To RR tracks	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 21.10	\$ 654.10
	Brightview Landscape Services, Inc.	31	Each	\$ 25.75	\$ 798.25
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	<del>\$ 125.00</del>	\$ 3,875.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 128.75	\$ 3,991.25

Item	Description	Qty	ИОМ	Unit Price	Total
13	Downtown Broadway - Watula to West. Hwy 40 (R.O.W). Including the strip along east side of parking garage from Fort King to Broadway to vacant lot property line.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 37.25	\$ 1,154.75
	Brightview Landscape Services, Inc.	31	Each	\$ 42.91	\$ 1,330.21
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	31	Each	\$ 125.00	\$ 3,875.00

Item	Description	Qty	иом	Unit Price	Total
14	E Ft King Medians/Roundabouts - SE 25th Ave to 36th Ave	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 121.00	\$ 3,751.00
	Brightview Landscape Services, Inc.	31	Each	\$ 150.17	\$ 4,655.27
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	31	Each	\$ 225.00	\$ 6,975.00

Southern Lawn Care Mid Florida Inc

Southern Lawn Care Mid Florida Inc

31

31

\$

Each

Each

128.75 \$

231.75 \$

3,991.25

7,184.25

Item	Description	Qty	UOM	Unit Price	Total
15	West Highway 40 Gateway medians - Three medians (two on east and one on west side of 1-75)	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 19.35	\$ 599.85
	Brightview Landscape Services, Inc.	31	Each	\$ 25.75	\$ 798.25
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 85.00	\$ 2,635.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 87.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Price	Total
16	PMA Management Group/ Third Party Liability/ TPA service Proposal (Box 3)	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 57.50	\$ 1,782.50
	Brightview Landscape Services, Inc.	31	Each	\$ 72.94	\$ 2,261.14
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 85.00	\$ 2,635.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 87.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Pri	ce	Total
17	Parking Lot 6 - NW 2nd St. and N. Magnolia	31	Each			
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 2	1.00	\$ 651.00
	Brightview Landscape Services, Inc.	31	Each	\$ 2	5.75	\$ 798.25
	Michael Putch LLC*	31	Each	\$	-	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 4	5.00	\$ 1,395.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 8	7.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Price	Total
18	R.O.W SE 1 Ave. from SE 5th St. to NE 3rd St.	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 67.50	\$ 2,092.50
	Brightview Landscape Services, Inc.	31	Each	\$ 85.81	\$ 2,660.11
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	31	Each	\$ 45.00	\$ 1,395.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 66.45	\$ 2,059.95

Item	Description	Qty	UOM	Unit Price	Total
<b>1</b> 9	SW 1 Ave. RO.W's from SW 2nd to W. Hwy 40, parking lot #7, parking lot #11	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 51.00	\$ 1,581.00
	Brightview Landscape Services, Inc.	31	Each	\$ 64.36	\$ 1,995.16
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 45.00	\$ 1,395.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 49.84	\$ 1,545.04

Item	Description	Qty	UOM	Unit Price	Total
20	S-Curve/Billboard - 800 blk S. Magnolia - 4 medians & area around billboard to the east of the R/R tracks	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 75.50	\$ 2,340.50
	Brightview Landscape Services, Inc.	31	Each	\$ 98.69	\$ 3,059.39
	Michael Putch LLC*	31	Each	\$ -	\$ -

SLC Ocala, LLC**	31	Each	\$ 85.00	\$ 2,635.00
Southern Lawn Care Mid Florida Inc	31	Each	\$ 87.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Price	Total
	Mary Sue Rich Community Center 1921 NW 17th PL. NW 17th Pl to South, NW 21st to West Property Line North East. Not including Sub Station	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 361.00	\$ 11,191.00
	Brightview Landscape Services, Inc.	31	Each	\$ 615.00	\$ 19,065.00
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 85.00	\$ 2,635.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 87.55	\$ 2,714.05

Item	Description	Qty	UOM	Unit Price	Total
22	Presbyterian Lot Fort King- E Fort King/SE Sanchez-Whole Block	31	Each		
	Michael Faison Lawn Maintenance, LLC	31	Each	\$ 42.00	\$ 1,302.00
	Brightview Landscape Services, Inc.	31	Each	\$ 15.00	\$ 465.00
	Michael Putch LLC*	31	Each	\$ -	\$ -
	SLC Ocala, LLC**	<del>31</del>	Each	\$ 45.00	\$ 1,395.00
	Southern Lawn Care Mid Florida Inc	31	Each	\$ 46.35	\$ 1,436.85